
https://www.geekcert.com/jn0-363.html
2024 Latest geekcert JN0-363 PDF and VCE dumps Download

 

 

 

JN0-363Q&As

Service Provider Routing and Switching Specialist (JNCIS-SP)

Pass Juniper JN0-363 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/jn0-363.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Juniper
Official Exam Center

 

 

JN0-363 Study Guide | JN0-363 Exam Questions | JN0-363 Braindumps                                1 / 4

https://www.geekcert.com/jn0-363.html
https://www.geekcert.com/jn0-363.html
https://www.geekcert.com/jn0-363.html


https://www.geekcert.com/jn0-363.html
2024 Latest geekcert JN0-363 PDF and VCE dumps Download

QUESTION 1

You want to see a detailed list of all established BGP sessions. In this scenario, what would be a valid command to
accomplish this task? 

A. show bgp neighbor 

B. show bgp summary 

C. show rouse receive-protocol bgp  

D. show rouse protocol bgp 

Correct Answer: D 

 

QUESTION 2

Which two LSA types are permuted in OSPF totally stubby areas? (Choose two.) 

A. Type 1 

B. Type 3 

C. Type 5 

D. Type 7 

Correct Answer: CD 

 

QUESTION 3

Exhibit 

Referring to the exhibit, how do you verify the status of the tunnel from R1? 

A. Issue the ping 172.20.111.10 source 172.20.110.1 command. 

B. Issue the ping 172.20.111.10 source 198.51.100.1 command. 
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C. Issue the ping 172.20.iii.io source 203.0.113.2 command. 

D. Issue the ping 172.20. Ill. 10 command. 

Correct Answer: C 

 

QUESTION 4

Which two interface types are used as tunnel endpoints? (Choose two.) 

A. ae 

B. ip 

C. ge 

D. gr 

Correct Answer: BC 

 

QUESTION 5

Exhibit 
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Referring to the exhibit, which two statements are correct? (Choose two.) 

A. Traffic ingressing ge-0/0/0 that is tagged with VLAN 101 will egress ge-0/0/1 unchanged. 

B. Traffic ingressing ge-0/0/0 that is tagged will VLAN 100 will be dropped. 

C. Traffic ingressing ge0/0/0 that Is tagged with VLAN 200 will egress ge-0/0/1 with an outer VLAN tag of 200. 

D. Traffic ingressing ge-0/0/0 that is tagged with VLAN 101 will egress ge-0/0M with an outer VLAN tag of 200. 

Correct Answer: AB 
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